WEXy BEINEZFEE
(B)S#5F 4R 1B (E)|M6E 3A318
EAG  HEELEA BRAHSEULRES

WEXSE : ShHLOVEBEIS
(B4 FH)

i (D) - (B)

B E B 24 B (A) HIEETE B)

FI BRI A
NEERHA
EIEEITPN
BRI
FHEHA
H BhAR TR FECEHIUA
HTAT FHEHA 1 0 1
<o =Ry RFEEEHA 5 1 4
e RN 2.000 1.800 200
s NPN 1.200 1.000 200
Fe b AR FECEHA 800 800 0
Fe_ IR RN 40 40 0
Dty v PN 40 40 0
R ZFEEHA 62,157 62,217 60|
= BUF B 24 4 A A Y A ¥ I (]
N 1 1 0
FEEIIAGD 82.935 81.020 1.915
H
Tk B AR 8.251 7.828 423
BB 53 2,289 2.048 241
IEFHERE RS 15,767 15,964 -197
TETEREA e 3 2.291 2.210 81
[e2egfeey | 50025 48752 = 1.273|
KB YRV 3 H 15.528 15.126 402
PR S 18,793 18.240 553
THEESE B T 2.155 2,200 —45
I A S 396 348 48
it X H 2.000 2.000 0
ES Tn - 8.290 8.000 290
TR S 201 195 6
{5 A S Y 1.422 1,403 19
A H 1,200 1,200 0
FE IR TTEER T H 40 40 0
sty | 380 3801 59|
fEFE AR S 190 190 0
HE S 160 160 0
T (E E R S 430 430 0
FABLAGR 2.920 2.861 59
PERE 20 20 0
SR S 140 140 0
FEE X HEN Q) 82.483 80,603 1,880
TLENE A I AR (3=1-2 452 417 35

A it 5% 2 i S WA 51 (4) 0 0 0
* H it 55 2 45 3 HH B (5) 0 0 0
it 55 i 55 A N S A2 A(6=4-5) 0 0 0
A
HEX R ASIA 0 0 0
St LD DIFEBHIRAFH (D) 0 0 0
FEX AL T 451 415 36
Z DB HEHS) 451 415 36
Z DM OIEENE &N F54H (9=7-8) —451 —415 —36
Tl H0) 1 2 -1
WG SIS EH(11=3+6+9-10) 0 0 0
HIHER K E i m(12) 0 0 0
VIR XA E i (11+12) 0 0 0
U AFREA : (DHD+H(D+(12) 82,935 81,020 1,915

SR EE: (2)+(5)+(8)+(10) 82,935 81,020 1,915




